

Washoe County Sheriff's Office - NV

2/2/2018

Axon Sales Representative Chad Kapler 480-341-9539 ckapler@axon.com



Axon Enterprise, Inc. Protect Life. 17800 N 85th St. Scottsdale , Arizona , 85255 United States Phone: (800) 978-2737

Sales Representative:

Chad Kapler 480-341-9539 ckapler@axon.com

BILL TO:

Washoe County Sheriff's Office - NV P.O. BOX 11130 Reno, NV 89520 US

QUOTE: Q-139060-43133.999CK

Issue Date: 02/02/2018

Quote Expiration: 12/31/2017

Account Number: 106569

Start Date: 04/02/2018 Payment Terms: Net 30 Delivery Method: Fedex - Ground

Primary Contact:

Bill Ames (775) 321-4948 wames@washoecounty.us

SHIP TO:

Bill Ames Washoe County Sheriff's Office - NV 911 Parr Boulevard Reno, NV 89512 US

Year 1

ltem	Description	Quantity	Net Unit Price	Total (USD)
Axon Plans &	Packages			
87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	25	216.00	5,400.00
80082	UNLIMITED BWC BUNDLE: YEAR 1 PAYMENT	150	0.00	0.00
85110	EVIDENCE.COM INCLUDED STORAGE	6,000	0.00	0.00
80022	PRO EVIDENCE.COM LICENSE: YEAR 1 PAYMENT	15	465.00	6,975.00
85110	EVIDENCE.COM INCLUDED STORAGE	450	0.00	0.00
Hardware				
70112	AXON SIGNAL UNIT	150	0.00	0.00
74001	AXON CAMERA ASSEMBLY, ONLINE, AXON BODY 2, BLK	150	124.75	18,712.50
74020	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	150	0.00	0.00
74022	SM POCKET MOUNT, 4", AXON RAPIDLOCK	150	0.00	0.00
11553	SYNC CABLE, USB A TO 2.5MM	150	0.00	0.00
70033	WALL MOUNT BRACKET, ASSY, EVIDENCE.COM DOCK	25	0.00	0.00
74008	AXON DOCK, 6 BAY + CORE, AXON BODY 2	25	756.47	18,911.75
Services				
85055	AXON FULL SERVICE	1	0.00	0.00
			Subtotal	49,999.25
			Estimated Shipping	0.00
			Taxes	0.00
			Total	49,999.25

Spares

Item	Description	Quantity	Net Unit Price	Total (USD)
Hardware				
74001	AXON CAMERA ASSEMBLY, ONLINE, AXON BODY 2, BLK	5	0.00	0.00

Spares (Continued)

Item	Description	Quantity	Unit Price	Total (USD)
Hardware (Co	ntinued)			
74020	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	5	0.00	0.00
74022	SM POCKET MOUNT, 4", AXON RAPIDLOCK	5	0.00	0.00
11553	SYNC CABLE, USB A TO 2.5MM	5	0.00	0.00
			Subtotal	0.00
			Taxes	0.00
			Total	0.00

Year 2

Item	Description	Quantity	Net Unit Price	Total (USD)
Axon Plans &	Packages			
87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	25	216.00	5,400.00
80083	UNLIMITED BWC BUNDLE: YEAR 2 PAYMENT	150	1,051.50	157,725.00
85110	EVIDENCE.COM INCLUDED STORAGE	6,000	0.00	0.00
80023	PRO EVIDENCE.COM LICENSE: YEAR 2 PAYMENT	15	468.00	7,020.00
85110	EVIDENCE.COM INCLUDED STORAGE	450	0.00	0.00
			Subtotal	170,145.00
			Taxes	0.00
			Total	170,145.00

Year 3

Item	Description	Quantity	Net Unit Price	Total (USD)
Axon Plans &	Packages			
87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	25	216.00	5,400.00
80084	UNLIMITED BWC BUNDLE: YEAR 3 PAYMENT	150	1,051.50	157,725.00
85110	EVIDENCE.COM INCLUDED STORAGE	6,000	0.00	0.00
80024	PRO EVIDENCE.COM LICENSE: YEAR 3 PAYMENT	15	468.00	7,020.00
85110	EVIDENCE.COM INCLUDED STORAGE	450	0.00	0.00
			Subtotal	170,145.00
			Taxes	0.00
			Total	170,145.00

Year 4

ltem	Description	Quantity	Net Unit Price	Total (USD)
Axon Plans &	Packages			
87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	25	216.00	5,400.00
80085	UNLIMITED BWC BUNDLE: YEAR 4 PAYMENT	150	1,051.50	157,725.00
85110	EVIDENCE.COM INCLUDED STORAGE	6,000	0.00	0.00
80025	PRO EVIDENCE.COM LICENSE: YEAR 4 PAYMENT	15	468.00	7,020.00
85110	EVIDENCE.COM INCLUDED STORAGE	450	0.00	0.00
			Subtotal	170,145.00
			Taxes	0.00
			Total	170,145.00

Year 5

Item	Description	Quantity	Net Unit Price	Total (USD)
Axon Plans &	Packages			
87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	25	216.00	5,400.00
80086	UNLIMITED BWC BUNDLE: YEAR 5 PAYMENT	150	1,051.50	157,725.00
85110	EVIDENCE.COM INCLUDED STORAGE	6,000	0.00	0.00
80026	PRO EVIDENCE.COM LICENSE: YEAR 5 PAYMENT	15	468.00	7,020.00
85110	EVIDENCE.COM INCLUDED STORAGE	450	0.00	0.00
			Subtotal	170,145.00
			Taxes	0.00
			Total	170,145.00

Grand Total 730,579.25



Discounts (USD)

Quote Expiration: 12/31/2017

Total	730,579.25
Discounts	208,295.75
List Amount	938,875.00

*Total excludes applicable taxes and shipping

Summary of Payments

Payment	Amount (USD)
Year 1	49,999.25
Spares	0.00
Year 2	170,145.00
Year 3	170,145.00
Year 4	170,145.00
Year 5	170,145.00
Grand Total	730,579.25

Typically, hardware shipment occurs between 4 - 6 weeks after purchase date. Product availability for new or high demand products may impact delivery time.

This Quote is provided in good faith by Axon specifically for Washoe County Sheriff's Office (WCSO). Signature on this quote indicates WCSO acceptance of the pricing and terms included herein. This Quote is governed by terms and conditions of Nevada Highway Patrol Contract #3273. You represent that you are lawfully able to enter into contracts and if you are entering into this agreement for an entity, such as the company, municipality, or government agency you work for, you represent to Axon that you have legal authority to bind that entity. If you do not have this authority, do not sign this Quote.

Signature:	Date:	
Name (Print):	Title:	
PO# (or write N/A):		

Thank you for being a valued Axon customer. For your convenience on your next order, please check out our online store buy.axon.com

Quote: Q-139060-43133.999CK

'Protect Life'© and TASER® are registered trademarks of Axon Enterprise, Inc, registered in the U.S. © 2013 Axon Enterprise, Inc. All rights reserved.